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Test Function

< int BacklightControl
int Number(2 & =xXI),
int CoverState(OHH HZ),
int tick(Al2})

+ int LockControl

int Number(& & =XI), int KeyState(2I=3|),
int LockState(=+== &2 HE),
int DoorState(=2 & &El), int tick(AlZ2H)

A

2013-12-06




Test Case Identification (1/7)

wvoid EDSL_UTC _eee eea() {

state = WAIT SET_PhD;
InNumCount = 4;
BacklightControl(NONE, TRUE , 2);

CU_ASSERT EQUAL(state, PhiD SET);
}
void EDSL_UTC_eed eel(){

state = WAIT_SET_PWD;

InNumCount = 3;

BacklightControl({NONE, TRUE , 2);

CU_ASSERT EQUAL(state, WAIT SET PWD);

STATE gt= TEST CASES%
SEIPIPEE-1n)

HE 921 4)HE AlAIAO2
stolst 4 gl0],

InNumCount = Len(n)

Test case identifier

Input specification

Output specification

EDLS_UTC_000_000

EDLS_UTC_000_001
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state == WAIT_SET_PWD/ Len(N) ==

state == WAIT_SET_PWD/ Len(N) == 4  state == PWD_SET

state == WAIT_SET_PWD



Test Case Identification (2/7)

void EDSL_UTC 000 002(){
state = PWD _SET,
BacklightControl( 1 , TRUE , @);
CU_ASSERT EQUAL(state, TURN ON);

}

void EDSL_UTC 000 003(){

state = PhD_SET;
BacklightControl( 1 , TRUE , 5);
CU_ASSERT EQUAL(state, TURN ON);
}
void EDSL_UTC_060 _004(){
state = PhD_3ET;
BacklightControl( 1 , TRUE , 9);
CU_ASSERT EQUAL(state, TURN ON);
}
void EDSL_UTC @e0 eas(){
state = PWD _SET;
BacklightControl( NONE , TRUE , 5);
CU_ASSERT EQUAL(state, PhD SET);
}
void EDSL_UTC 008 006(){ //
state = PhD_SET;

TickCount = 18*TickPersec;
CU_ASSERT EQUAL(BacklightControl( 1 , TRUE , 1), FALSE);
CU_ASSERT EQUAL(state, TURN OFF);

}

void EDSL_UTC 0ee ea7()]
state = PWD _SET,
CU_ASSERT EQUAL(BacklightControl( NONE , FALSE , 4) , FALSE ):
CU_ASSERT EQUAL(state, TURN OFF);

}
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002~0077t Xl PWD_SET HIAE,
IN2 Number?l 2% 0|(H, Trues

= 7T T

0~9 , False= NONE(-1)O0ICt.

o
—

True
False

Enable
Disable2

Test case ident|Input specification Output specification

ifier

EDLS_UTC_000 state == PWD_SET / tick == 0 state == TURN_ON

_002 /IN == TRUE / c == TRUE

EDLS UTC 000 state == PWD SET / tick == 5 state == TURN_ON

_003 failiN = S5 ihhs! By e = w6k b6

EDLS_UTC_000 state == PWD_SET / tick == 9 state == TURN_ON

_004 /IN == TRUE / c == TRUE

EDLS_UTC 000 state == PWD_SET / tick == 5 state == PWD_SET

_005 LIN == FALSE /¢ == TRUE

EDLS_UTC 000 state == PWD_SET / tick == 1 state == TURN_OFF/

_006 0/ c==TRUE /in == TRUE Disable "backlight on"

EDLS_UTC 000 state == PWD_SET / C == state == TURN_OFF/

_007 FALSE / tick = true / in == Disable "backlight on"
FALSE




Test Case Identification 3/7)

void EDSL_UTC @@d ea8(){ // ticki @~3
state = TURN_OFF;
CU_ASSERT_EQUAL(BacklightContrel( 1 , TRUE , 5} , TRUE };
CU_ASSERT_EQUAL(state, TURN_ON);

}

Y s o o 008~0107tXl TURN_OFF HIAE,
CU_ASSERT_EQUAL(BacklightControl{ 1 , TRUE , 5), TRUE);
CU_ASSERT EQUAL(state, TURN ON);

¥

void EDSL_UTC 000 010(){
state = TURN_OFF;
BacklightControl({ NONE , FALSE , 5);
CU_ASSERT_EQUAL(state, TURN OFF);

}
Test case identifier |Input specification Output specification
state == TURN_OFF / C == TRUE / Tick == state == TURN_ON / Enable "backlight o
EDLS_UTC_000_008 TRUE / IN == TRUE A"
state == TURN_OFF / IN == TRUE / C == state == TURN_ON / Enable "backlight o
EDLSLUTCI000900 TRUE ikicks=srmiiR i n"

state == TURN_OFF / C == FALSE / IN =

EDLS_UTC_000_010 FALSE / Tick == TRUE

" State == TURN _OFF
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Test Case Identification /7))

void EDSL_UTC @ed e11(){
state = TURN_ON;
CU_ASSERT EQUAL(BacklightControl( MOME , FALSE , 5) , FALSE );
CU_ASSERT EQUAL(state, TURN OFF);

h

void EDSL_UTC 000 012(){
state = TURN_ON;
TickCount = 18*TickPersec;
CU_ASSERT_EQUAL (BacklightControl( NONE , TRUE , 5) , FALSE );
CU_ASSERT_EQUAL(state, TURN OFF);

h

void EDSL_UTC_ 000 013(){
state = TURN_ON;
TickCount = 9*TickPersec ;
BacklightControl( MONE , TRUE , @);
CU_ASSERT_EQUAL(state, TURN ON);

011~0137tXl TURN_ON HIAE.

Test case identifier |Input specification

Output specification

EDLS UTC 000 011 state == TURN_ON / C == false
EDLS UTC 000 012 state == TURN_ON / 10tick[IN==false]

EDLS_UTC 000 013 state == TURN_ON / 9tick[IN==false]
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state == TURN_OFF /
Disable "backlight on"
state == TURN_OFF /
Disable "backlight on"
state == TURN_ON




Test Case Identification (5/7)

void EDSL_UTC 001 _eae(){

b

void EDSL_UTC 001 _eai(){

TomCoumt a0 000~013 WAIT SET PWD HAE,

TickCount = 3*TickPerSec;

CU_:'—‘-.SSERT_EQU;E'.LE:LDCkCDntr‘Dlt:N'DNE, NONE, MONE, TRUE, N’DNE:I
& LOCK_DOOR, LOCK_DOOR);

CU_ASSERT EQUAL(state, LOCKED);

Test case iden
state = WAIT SET PhD;

Input specification Output specificati ‘

InNumCount = 33 tifier on

TickCount = 3*TickPersec;

LockControl (TRUE, NONE, NONE, TRUE, NONE); EDLS_UTC 001 state == WAIT_SET PWD state == Locked / T
} CU_ASSERT_EQUAL(state, WAIT SET PWD); 000 / Len(N) == 4 / tick == rigger "Lock door”

/ D == true
id EDSL_UTC 901_002

VO e At Sy i, EDLS_UTC_001 state == WAIT SET PWD  state ==

InNumCount = 4; 001 / Len(N) == 3 / tick == WAIT_SET_PWD

TickCount = 2¥TickPerSec; 3l

LockControl (NONE, NONE, NONE, TRUE, NONE); / D == true

CU_ASSERT_EQUAL (state, WAIT_SET_PUD); EDLS_UTC_001 state == WAIT SET PWD  state ==

}
_002 / Len(N) ==4/ tick == WAIT_SET_PWD
void EDSL_UTC 801 803(){
state = WAIT SET_PWD; / D == true
e L ckPersec EDLS_UTC_001 state == WAIT_SET_PWD  state ==
LockControl (NONE, NONE, NONE, FALSE, NONE); 003 Fllen(N) 2248 figkies WAIT_SET_PWD
CU_ASSERT_EQUAL(state, WAIT SET PWD); f-b A
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Change Control for test

case LOCKED:
if (tick){
TickCount++;
}

if (@ <= Number && Number <= 9}){
TickCount = @
if (InNumCount == 4)]
if (Correct)q
trigger ING ALERT 1;
trigger |= UN ;
state = UNLOCKED;

h
else{

trigger |= RING_ALERT 2;
¥

for (i =8; 1 < 4; i++)q
inputMum[i] = MNONE;

h

InMumCount = 8;

¥

else if (KeyState || LockState){
TickCount = @;
trigger |= RING_ALERT 1;
trigger |= UNLOCK_DOOR;
state = UNLOCKED;

inputNum[InNumCount++] = Number& At

NumCmp(password, inputNum)& H

else if (TickCount »= 18*TickPerSec &8 8 < InNumCount && InNumCount < 4){

TickCount = 8;
InHumCount = 8;
trigger |= RING_ALERT 3;

t
break;
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Test Case Identification (6/7)

VOyoid EDSL_UTC_001_0@9(){

e ce; 001~0117tX| Locked HAE.

result = LockControl{ MNONE, TRUE, NOME, MONE, NONE);

CU_ASSERT EQUAL(result & RING ALERT 1, RING ALERT 1);

1 CU_ASSERT_EQUAL(result & UNLOCK_DOOR,UNLOCK_DOOR); Test case ident
Vo CU_ASSERT EQUAL(state, UNLOCKED); ifier
¥ EDLS_UTC_001_
void EDSL_UTC_001_010(){ oo
int result; )
state = LOCKED; EDLS UTC 001_
} result = LockControl({ MNONE, NONE, TRUE, MONE, NONE); 005

VO (U ASSERT_EQUAL(result & RING_ALERT 1, RING ALERT 1);
CU_ASSERT _EQUAL(result & UNLOCK_DOOR,UNLOCK_DOOR);
CU_ASSERT_EQUAL(state, UNLOCKED); EDLS_UTC 001

} 006

} vold EDSL UTC @@l e11(){ EDLS UTC 001
state = LOCKED; I A i

VO
Correct = FALSE; 007
InNumCount = 33
LockControl (TRUE, FALSE, FALSE, NOME, NONE); EDLS _UTC_001_
CU_ASSERT_EQUAL(state, LOCKED); 008

, }

void EDSL_UTC 801 00s(){ EDLS_UTC_001_

int result; 009

state = LOCKED;

InNumCount = 4; EDLS UTC 001
Correct = TRUE;

result = LockControl({ TRUE, NONE, NONE, NONE, NONE}; 010
CU_ASSERT_EQUAL(result & RING ALERT 1, RING ALERT 1);

CU_ASSERT _EQUAL(result & UNLOCK_DOOR, UNLOCK _DOOR)Y; EDLS UTC 001 _
CU_ASSERT_EQUAL(state, UNLOCKED); 011
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Input specification Output specificati

on

state == Locked / Len(N) == 4 / N Trigger "Ring Alert2"
1= p/

IN == true

state == Locked / tick == 10 / Len( Trigger "Ring Alert3"
N) == 1/IN == none / K == false /

O == false

state == Locked / tick == 10 / Len( Trigger "Ring Alert3"
N) == 2/IN == none / K == false /

O == false

state == Locked / tick == 10 / Len( state == Locked

N) == 4/IN == none / K == false /

O == false
state == Locked / N == P / IN == state == Unlocked /
true / Len(N) == Trigger "Ring Alertl" /
Trigger "Unlock door"
state == Locked / K == true / state == Unlocked /
IN == false Trigger "Ring Alertl" /
Trigger "Unlock door"
state == Locked / O == true / state == Unlocked /
IN == false Trigger "Ring Alertl" /

Trigger "Unlock door"
state == Locked / N != P/ K == fal state == Locked
se/ O == false / Len(N) !'= 4 /
IN == true




Test Case Identification (7/7)

void EDSL_UTC @01 _e12(){
state = UNLOCKED;

g el e, e e 00| 01201794 X] Unlocked BIAE.

CU_ASSERT_EQUAL(state, LOCKED);

}

void EDSL_UTC @61 _013(){
state = UNLOCKED;
TickCount = 3*TickPersec;
CU_ASSERT_EQUAL (LockControl (NONE, NONE, TRUE, MNOMNE, NONE)
& LOCK_DOOR, LOCK DOOR);
CU_ASSERT EQUAL(state, LOCKED);

}

vold EDSL_UTC_@e1_e14(){
state = UNLOCKED;

Eajgggz;iééﬂgff;t:g:f'U;EEE,}EE?;LSE‘ HONEDs Test case identi |Input specification Output specification
} fier
void EDSL_UTC_ 081 015(){ EDLS_UTC_001_ state == Unlocked / state == Locked /
state = UNLOCKED; 012 D == true / O == true Trigger "Lock door"
TickCount = 1*TickPersec; -
LockControl (NONE, NONE, FALSE, TRUE, NONE); EDLS UTC 001_ state == Unlocked / tick == 3 state == Locked /
CU_ASSERT EQUAL(state, UNLOCKED); 013 / D == true Trigger "Lock door"
¥
EDLS UTC 001_ state == Unlocked / State == Unlocked
void EDSL_UTC 881 016(){ __ .
state — UNLOCKED: 014 D == false / O == true
TickCount = 2*TickPersec; EDLS _UTC 001_ 'state == Unlocked / State == Unlocked
LockControl (NONE, NONE, FALSE, TRUE, NONE); ||
CU_ASSERT_EQUAL(state, UNLOCKED); 015 D == true /
} O == false / tick '= 3
void EDSL_UTC 001_017(){ EDLS UTC 001_ state == Unlocked / tick == 2 State == Unlocked
state = UNLOCKED; 016 / D == true / O == false
TickCount = 3*TickPersec;
LockControl (NONE, NONE, MONE, FALSE, NONE); T ETE 1l
CU_ASSERT EQUAL (state, UNLOCKED); EDLS UTC 001 state == Unlocked / tick == 3 State == Unlocked
017 / D == false
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Test Result — Basic Type

2013-12-06

' Problems

CUnit

http://cunit.sourceforge.net/

Suite: testing a suite
Test: EDSL_UTC_ eas e
Test: EDSL_UTC_ eed 8el
Test: EDSL_UTC eaa a3
Test: EDSL_UTC_ eae_eed
Test: EDSL_UTC_ eae aas
Test: EDSL_UTC_ eee 8ec
Test: EDSL_UTC eal_ eaa
Test: EDSL_UTC &8l 8el
Test: EDSL_UTC el @a2
Test: EDSL_UTC_ee8l 8e3
Test: EDSL_UTC eal_ eed
Test: EDSL_UTC_eel ees
Test: EDSL_UTC_eel 8ec
Test: EDSL_UTC_eel eevy
Test: EDSL_UTC_eel 8es
Test: EDSL_UTC_eel ees
Test: EDSL_UTC_ee8l_ele
Test: EDSL_UTC eel ell
Test: EDSL_UTC _eel el2
Test: EDSL_UTC el 81>
Test: EDSL_UTC el _el14
Test: EDSL_UTC eel 815
Test: EDSL_UTC el 8l
Test: EDSL_UTC eel 817y

Run Summary : Type Total

suites 1
tests 24
asserts 34

Elapsed time =

.passed
.passed
.passed
.passed
.passed
.passed
.passed
.passed
.passed
.passed
.passed
.passed
.passed
.passed
.passed
.passed
.passed
.passed
.passed
.passed
.passed
.passed
.passed
.passed

Ran

24
34

8.848 seconds

@ Javadoc I__% Declaration | &l Console 3
=terminated= T2_Unit.exe [C/C++ Application] C:¥Usersstadministratorswor

- A unit testing framework for C - Wersion 2.1-2

Passed Failed Inactiwve

n/a
24
34




Thank You !
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